1) a) PCX <£3)%0,2340 gerundet auF 4 gtelle

Erngahe met T1=30x Plus [ng] [ stat-reg/citr]
<DISTRY>L Brnomral CJ;> < 5"”7[€> Tvials = 25,. /9:0/2I,X:3

b) PUx<¢)x 9,#800

() PUX=9)% 0,4108  Emgobe wie 0} mur
muF Branomial /oc/l:

GI) PC Xétl ) o 0,‘!207 K g) F()(: 5‘);: 0’436—0
f) P(x<9)=013817

q) P(x=9)x po2134
h) PCXx <) z'm' i) P(x <8)x 09532
i) P(X<)=o00982 k) P(x=0)= (@.qzﬂqﬁ%m
R é_//S);:l’Loo_e '

Llyn=30; p=03 = X ist B, 5 vertil?

PCX <g)= PCx<=7)~ p,2814

b) n=50, p=05 . P(x<28)~ 08389

¢) p-= &, p- 1, Plx<=3)=p(x=2)x 0,79¢9
5. plx<10)= 0,13%%

d) n-= =
)n'44/' P 6 7
e) n =100, P=09. P(x <9)=P(X= 94)x 09424

in=80, p= 1, P(x<30)=P(x<29)x 0,751
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